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QUESTION 1

When specifying a source for a security rule, what is the purpose of the Negate Source check box?
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A. If Negate Source is selected, the rule is sent to only the objects identified under object type.

B. If Negate Source is selected, the rule is applied to traffic coming from all sources except for the source identified
under the object type.

C. If Negate Source is not selected, the rule is applied to traffic coming from all sources except for the source identified
under the object type.

D. if Negate Source is not selected, the rule is sent to only the objects identified under the object type.

Correct Answer: B

QUESTION 2

An administrator needs to perform a configuration backup of NSX. From which two locations can this task be
performed? (Choose two.)

A. Directly on the NSX Manager
B. From the vSphere Web Client
C. Using the NSX API

D. Directly on each NSX Controller

Correct Answer: AC
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QUESTION 3

Two virtual machines are unable to communicate with one another. The virtual machines are in the same distributed
portgroup, but reside on different ESXi hosts.

What are two possible causes for the communications issue? (Choose two.)

A. Basic multicast filtering mode has been disabled on the ESXi hosts.

B. No physical NICs are assigned as active or standby uplinks in a NIC team.

C. The standby links are configured on different VLANS, preventing heartbeats from reaching each VM.

D. The physical NICs assigned as active or standby uplinks reside on different VLANs on the physical switch.

Correct Answer: BD

QUESTION 4

What are two requirements of the network infrastructure to the access layer? (Choose two)

A. IPv4 connectivity among ESXi hosts provided by a spine-leaf network design.

B. IPv4 connectivity among ESXi hosts.

C. Increased MTU if the virtual machines are using the default MTU size of 1500.

D. A Redundant, Layer 3, Top-of-Rack network design to provide high availability to ESX hosts.

Correct Answer: BC

QUESTION 5

An administrator creates a SpoofGuard policy for specific networks. Which two modes are associated with this type of
policy? (Choose two.)

A. Automatically trust IP assignments on their first use

B. Manually inspect and approve all IP assignments before use

C. Manually approve IP assignments listed in the Host file before use
D. Automatically inspect and trust IP assignments on every use

Correct Answer: AB
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